81. Which graph best represents she€solujion to thi
system of inequalitjes? IC kﬁ) )0)

Note: All 4 choices have the same borderlines,
so strategically | can go straight to picking a poin
to test out. At quick glance, it looks like (0,0) is
going to work, that it will be part of the solution
set.

2x —hy<10

82. Which ordered pair is the solution to the system

of equationsbelow?
x+3y=7
x+2y=10
7 13
A. (E‘:) C. (2.-3)
7 17
B. (Y) D. (16, -3)
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K+ 2 =10 -4 =10
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83. Marcy has a total of 100 dimes and quarters. If
the total value of the coins is $14.05, how many
quarters does she have?

¥ 4 C. 56

B. 40 D. 73

[t d- #dines - diq 100
L_d-q/ #%uar ers [00(.}- 259=11.05))
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84. Which of the following best describes the graph
of this system of equations?

y=-2x+3
5y = —10x + 15 2 -4 43
NI A
@ Two identical lines It's the same line.

B. Two parallel lines
C. Two lines intersectionin only one point
D. Two linesintersecting in only two

points
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86. (4x*—2x+8)—(x*+3x—-2) =

A. 3x*+x+6
B. 3x2+x+10
C. 3x2—-5x+6

(D.]3x2 —5x+10
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87. The sum of two binomials is 5x2 — 6x. If one
of the binomials is 3x% — 2x, what is the other
binomial?

B. 2x%—8x

. oot
. Y
C. 8x%+4x No‘bd‘ 6‘])/

D. 8x%? —8x

Sy~ by 5 x 3+ 2x

88. Which of the following expressions is equal to
(x+2)+(x—2)(2x + 1)?

2x% — 2x

B. 2x? —4x
C. 2x2+x
D. 4x?+2x

X+2+ (2 (Axt)
Ll 4
ok Xt 2= B



89. A volleyball court is shaped like a rectangle. It
has a width of x meters and a length of 2x
meters. Which of the expressions gives the area
of the courtin square meters?

A. 3x ol

2x? D 2x*
— g Areaf— /@W’ .
A= Gx)) Ax

90. Which is the factored form of
3a? — 24ab + 48b%?

A. (3a—b)(a— 6b)
B. (3a—16)(a—3b)

(C) 3(a— 4b)(a— 4b)
D. 3(a— 8b)(a— 8b)

U
(5CF 3(&1'80‘5*/651)
3 (a-4Na-4b)

Note: You can always check your answer in a case like this by FOILing and then distributing to
see if you end up back where you started.



91. Which is a factor of x? — 11x + 24?
(x-8Xx-3)
 fe mE
x—J
x+4
x—4

o olw »

92. Which of the following shows 9t + 12t + 4

factored completely?
(3t+2)(3t + 1)
(3t +2)?
Perfect square trinomial pattern.

B. (St 5 4) (Bt 6 5 1) FOIL to check answer.
C. (9t+4)(t+1)
D. 9t?+ 12t +4



93. What is the complete factorization of 32 — 8z7%?

A -8(12+2)(2—2)
YT (6

D. 8(2 = Z)Z Note: Once a GCF of 8 is pulled out, itis
a difference of two squares pattern.

94. If x? is added to x. the sum is 42. Which of the
following could be the value of x?

Coulcl 'P\\Lﬂ LS C. 14

1A% B. -6 D. 42
“yeya
X -y ~M%



95. Two airplanes left the same airport travelingin
opposite directions. If one airplane averages
400 miles per hour and the otherairplane
averages 250 miles per hour, in howmany hours
will the distance between the two planes be 1625

miles?
v e 8. £ D
B. 4 D. 10.8

oo h 1250 h= 1625

= (635
6

h225

06. Lisa will make punch thatis 25% fruit juiceby
adding pure fruit juice to a 2-liter mixture that is
10% pure fruit juice. How many liters of pure
fruit juice does she need to add?

0.4 liters C. 2liters

B. 0.5liters D. 8 liters

Lef 1_,'—" # | iters ofepure Fruit che added

Irters of puri 25% oftotal after
10% of 2 liters

00 FL = 25 (ath)
N+ L30T 25 L

254
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07. Which relationis a function?

¥ {(-1,3),(=2,6),(0,0),(=2,-2)}
B. {(—2,-2),(0,0),(1,1),(2,2)}
K {(4,0),(4,1),(42),(4.3)}

3L, ((7,4).(8,8),(108),(10,10)}

ite: F or each value of %, '(}!gggg,becaqupi}n)_e
N Oenf’, and onl\/ oné Va’ut‘, ﬁr/y""/”l o.'p 'H'\e
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98. For which equation graphed below are all the
y-values negative?
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00. What is the domain of the function shown on the

graph below? \\"POSS; HE,X Value 5
J
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A. {-1,-2,-3,—4}
B. {-1,—-2,—4,—-5}
C. {1,2,3,4}
D. {1,2,4,5}

100. Which of the following graphs represents a
relation that is not a function of x?
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